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w1 T H 244 280 299 579|F 4 WHAT5 T H 526 609 615 1,224|% BT 7 T H 1,181 1,581 1, 400 2,981 | AR HT3T H 215 293 282 575
B W 2T B 361 394 395 789|F 4 WEAT6 T H 365 399 408 807|%r BT 8 T H 471 579 600 1,179/ | 4,404| 5,423| 5,518 10,941
B w3 T A 290 347 355 702 s 9,284| 10,949 10,896 21,845(% BT 9 T H 999| 1,228 1,095 2,323| {RE1TH 102 106 110 216
FE4ET1T B 143 156 134 290 |k IE 585 646 696 1,342|K )BT 1T H 126 117 119 236| _fRE2T H 301 358 368 726
FasET2 T B 101 90 95 1855 L HT 1 T H 303 407 394 801K A2 T H 362 401 374 75| ZARE3 T H 271 326 353 679
PE4ET3 T B 121 141 171 32|% M2 T H 595 690 674 1,364 5 8,323| 10, 381 9,411 19,792| " {RE4T H 129 137 161 298
£ L HT 280 285 301 586 |9 BT 3 T H 1,435 1,534 1,442 2,976 |W 0BT 1T H 787 926 894| 1,820| “{REST H 96 126 124 250
N HT 422 440 450 890|% T4 T H 706 756 744 1,500 J L BT 2 T H 294 382 354 736|R H 1T H 72 82 80 162
fip L) 220 231 243 474K P31 T H 773 912 903 1,815({r iD BT 3T H 231 265 269 534|3R 2 T H 126 160 157 317
1= T 121 117 132 29|k 4 2 T H 317 408 391 7993 L BT 4 T H 719 740 718|  1,458|3R 3 T H 117 130 120 250
* F W 181 218 233 451k P9 3 T H 691 847 867 1,714 ({0 BT 5T A 724 738 733 LATL|) & A AT 183 185 207 392
= fF HT 437 475 533 1, 008 |#z A 419 383 476 859 [ L BT 6 T H 1,213 1,361 1,327  2,688|f & 1 T H 59 59 60 119
K o WE HT 490 570 580 1,150 |& 52 426 519 553 1,072 0BT 7 T H 1,093 1, 106 1,168 2,274|f & 2 T H 72 81 82 163
W/ Lk Hy 308 311 334 645| A% F1 T H 253 323 314 637 ({3 AT 8 T H 776 905 738  1,643|81 & (L 37 63 78 141
KB HET 514 612 592 1,204 K8 F27T H 243 338 347 685 {7 I BT 9 T H 938 916 983|  1,899|/h at 1,565 1,813 1,900 3,713
HinfnE1T B 207 228 246 4744 s 1 T H 470 695 649 1,344 ({0 BT10T A 841 789 761 1,550\ [ 1 T H 408 289 333 622
HmEfnHE2T H 280 324 347 6714 F 2 T H 86 103 103 206 Ea 7,616| 8,128| 7,945 16,073|® M2 T H 87 98 101 199
HmEfiHE3T H 308 393 403 7964 ¢ 3 T H 329 464 429 893|fk 4B 1 T H 185 202 219 42118 W 3T A 268 196 199 395
Ft 5,028| 5,612| 5,843| 11,4554 ¢ 4 T H 526 723 685 1,408 #& 2 T H 937 1,306 1,200  2,506|/hE@ K1 T H 97 125 107 232
By AET 1T H 227 285 285 57014 3 5 T H 459 623 600| 1,223|# #& 3 T H 334 434 435 869|/h& ARK2T H 46 57 62 119
By AmT2 T H 361 422 424 846 s 8,616| 10,371| 10,267 20,638|%4 #H 1 T H 1,291 1,492 1,493|  2,985|/h@ K3 T H 179 237 233 470
B KET3 T H 202 280 274 554|3 F MfE 1 T H 485 478 534 L,ow2(4 #2717 H 962 1,096 1, 200 2,296 /N A4 T H 235 189 260 449
El1TH 711 732 775 Le07T|W & M2 T H 820 832 864 1,69 (4 #H 3 T H 869 1,007 993 2,000 (/N A5 T H 74 83 98 181
Ei2TH 708 876 891 L7673 & M3 T H 1,076 1,132 1,093 2,225|4 4 T H 0 0 0 O R 1T H 205 173 212 385
EW3TH 375 526 515 LOALINR H M4 T H 708 696 701 1,397(4 # 5 T H 182 56 160 26| R 2T A 256 330 305 635
Ei4TH 788 885 994 1,879 & M5 T H 951 968 972 1,940 G 4, 760 5, 593 5,700 11,293[H R 3 T H 410 241 382 623
EW5TH 524 534 573 LTI & M6 T H 354 396 366 762 /)8 [ 51,291 59,090 58,161| 117,251 [/ G 2, 265 2,018 2,292 4,310
E e T H 153 204 215 4191 » 1 T H 424 489 482 971/ 1 T H 346 435 407 842t A1 T H 262 211 289 500
EW7TH 480 558 493 1,051 (4R » fi2 T H 801 750 861 L6l 2T A 422 487 513 1,000(p A 2 T H 391 286 292 578
E 8T H 254 318 300 618|Hf [ BT 1 T H 332 420 391 8114 h 3 T H 432 549 556 1,105[p A 3 T H 112 139 137 276
EW9TH 3 4 3 7|6 [E BT 2 T H 693 847 834 1,681 (Ffn HHET LT H 217 275 272 547(p A 4 T H 60 60 61 121
KHET1TH 314 381 367 748 |fifi i BT 3 T H 554 587 551 1,138(Ffn HHET2T A 262 321 348 669 A5 T H 77 80 81 161
RKHEWT2T H 342 337 329 666 |ffi [E BT 4 T H 466 461 450 9ll|fE #F 1 T H 140 189 191 380|pk A6 T A 38 50 52 102
RKHEBT3T H 303 406 368 774 Gl 7,664 8,056 8,099 16,155(HF # 2 T H 170 203 227 430\ A7 T A 72 91 92 183
K HEWT4T H 314 392 403 79508 BT 1 T H 1,124 1,408 1,313 2,721|k M 3 T H 179 232 219 451\ A8 T A 105 137 106 243
K HEHBTS T H 302 368 377 74508 BT 2 T H 690 916 796 1,712|HE ¥ 4 T H 206 255 239 494 [/ 1,117 1, 054 1,110 2,164
T4 W1 T H 678 790 804| 1,594 WT 3 T H 1,489 1,719 1,482 3,201|#E # 5 T H 485 631 641 1L,272(H sE fF & & 9,351 10,308 10,820 21,128
T WHET2 T H 517 629 606| 1,235|% BT 4 T H 659 793 761 1,554|#F %5 6 T H 485 654 592|  1,246|& 2+ 60,642| 69,398| 68,981 138,379
T WERT3 T H 398 505 432 937|%¥r T 5 T H 1,118 1,498 1,347 2,845 |4l AR BT 1T H 369 467 458 925
T WERTA T H 439 509 445 954(%¥r BT 6 T H 104 141 124 265 |4l A BT 2T H 476 432 573 1,005




